goooboooogn
0O 561 0 19850 136-141

136

Link ® 2 R¥47518 & 0 mu SIMP/muMATH
K 33 |
PR K12 FTE 4B
(\Tyvun Murakamt )

Link 0 2 REWIAE £ %3 707 7 4 E muSIMP /muMATH
T, toTtantLEd,
B corov i LorEmn. - BitE L e MIEE E1E A
1032079, mSIMP/maMATH L E 27°077 7 2 3 71k
TRy FapEFOREE o TE T3 2y
), IrFRAAtANBC, BRETY, LPL UL TR
TRETH, {thn 3 PRAR Y THLEAGOE L, 12 T
XE)- +EM BB pihzcr 1C, Bruibiv
N ehE S o) LISPRERB oMLY LT &
(REEEIIEEL 3L F,

a7 78 ) Ak ok o FERTFEN, WI~AW3 g2k
T RIBTII R 2.

X173, 35 Link 22b T BradEE o o3g 2 & hY
st NORMALIZE(REDUCTION (REVER SE (LEX2,LEX])))
N5 COMPRESS v o3 BI# gy, 2o0list o BE2 T
LBR e T L EMY, EXI AL £,

L



13+

¥2 T EVAL(EX3) hgn, EXIRAAT R ET F Lo
BBz de LT, TANEXBEMATHRETFL L p
tor g, Tnhl, shotPp3NIEATI. FLn5H
.40 Mok sz TN RT Tnor, L
NIELEEHL 17, |

Y LTIYW3 T, v ERDEWBIES E, ASSIGN ERA W T,
EX3A, Tnw3FhhaofErl 27,

S?m3> @,41},,;4 &Y, 3 vea-7- l;t’A,Z"A,@é(f;
I S |
oA 3 Ro2rEl7H:FT.
AD MUS MPp wmSIMP o E2#1

" e et TAlkigezsit= &4, TF I
7 Rosmmm Mz/s) RDS(ALGEBRA ARIL);
wuMATH 9335 W E Tt E3HA T,

TRDS (700 76 A> R filk), 7605403 %3n%
TSAVE (774 8); 5o e e RT3
TSYSTEM (), i SINP [mu MATH & 44 03,
>A |

ShERBO Y ELT RS L, LB T T 04 NE LT
MHEvE %




138

>A MUSIMP 7341L% Lo Mg RtEL RRIRE
LR SEPHEARES, v LT

TP (n, “uk); LA E 0TS, Biha
TSAVE (Trdv®); L BEoBE e REL 015
ISTSTEML):  T¥by%7,
oA

22T LP o3RRG, LnkEZ bT Brud
LoSofts [guorfed, 36 Lt LE
4B T TEhL Rt T, |

L= oF 0»: 0?? (eg=11, [¢ig¢n) oe?
(€01, &1y, - €0,) Ll sde fin it
“ofi 23T, 0P vhr 3 Band TEHRTEII 0T
LP(1. (1,1, 1)y keymRddsssL, 8) ik
G4 34T, (o) b h3aT
LP(2,"1,-2,1,-1)); ©41viq,

L L REEMLTIHLFE o,

(5 %)

Linko 2 E#MEA L>0 1 S8 0B 03 5

2 SIMP /s MATH 12 210 1 i STMP /o MATH 0
| 71;77(/

1Y



13y

% Set EXPAND mode %

TRGEXPD: -28

PWREXPD: 63

NUMNUM: DENDEN: DENNUM: BASEXP: EXPBAS: 308

%

NUMDEN: 0s
FUNCTION NORMALIZE (LEX1, %Local% LEX2, LEX3), % Get the smallest one of
LEX3: LEX2: LEX1, % the cyclic permutations
LOOP % of LEXL1.
BLOCK
WHEN ORDERED (LEX3, LEX2), LEX2: LEX3 EXIT,
ENDBLOCK,
LEX3: APPEND (REST (LEX3>, LIST(FIRST(LEX3))),
WHEN LEX1 = LEX3, EXIT,
ENDLOOP,
LEX2,
ENDFUN2
FUNCTION CONTAIN (N, %Local% EX1, LEX4 %Global LEX1, LEX2, LEX3%),
LOOP % Search the first N in LEXS3.
WHEN ATOM (LEX3), 0 EXIT, % ' N is not found.
WHEN ABS (EX1: POP (LEX3>) = N, % ‘ N is found.
LOOP % Search the nearest N—1 after the first N before second N.
WHEN ATOM (LEX3), PUSH (EX!, LEX2), 1 EXIT, % 2nd N isn’t
WHEN ABS (FIRST (LEX3>) = N, % 2-nd N is found before N-1.
PUSH (EX1, LEX2), LEX1: APPEND (LEX3, LEX1>, 2 EXIT,
WHEN ABS (FIRST (LEX3)) =N -1, % N-=1 is found.
PUSH (EX1, LEX2), i
LOOP % Search 2-nd N.
WHEN ABS (EX1: POP (LEX3>) = N, % 2-nd N is found.

LEX1: APPEND (LEX3, LEX1>, LEX3: FALSE,
LOOP

WHEN ATOM (LEX4>, PUSH (EX1, LEX1>, 2 EXIT,

WHEN ABS (FIRST (LEX4>)> =N - 1,
LEX3: REVERSE (LEX4>, PUSHC(EX1,LEX1),
LENGTH(LEX3>+2 EXIT,
PUSH (POP (LEX4)>, LEXL)
ENDLOOP EXIT,
PUSH (EX1, LEX4,
WHEN ATOM (LEX3), LEX1: REVERSE (LEX4, LEX1), 1
ENDLOOP EXIT,
PUSH (POP (LEX3), LEX2
ENDLOOP EXIT,
PUSH (EX1, LEX2)
ENDLOOP
ENDFUNS

FUNCTION LP (N, LEX1),
WHEN CHECK (N, LEX1>, JONESO (N, NORMALIZE (REDUCTION (LEX1>>)> EXIT,
PRINTLINE ('"Invalid data™)

ENDFUN$

S - - - -

EXIT
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INCTION JONESO (N, LEX3, %Local% LEX1, LEX2, EX1, EX2, EX3, ANS),
M: N,
LOOP
WHEN ANS,  EXIT,
WHEN ZERO (N>, 1 EXIT,
WHEN ZERO (EX1: CONTAIN (M),
JONESO (N - 1, REVERSE (LEX2, LEX1))%(-x — y) EXIT,
BLOCK
WHEN EX1 = 1,
N: N -1, M: M - 1, LEX3: REVERSE (REST (LEX2), LEX1),
LEX2: LEX1: FALSE EXIT,
WHEN EX1 = 2,
WHEN FIRST (LEX1) = FIRST (LEX2),
¥l EX3: COMPRESS (NORMALIZE (REDUCTION (REVERSE (LEX2, LEX1)))),
% 2 WHEN NOT EX3 = (ANS: EVAL(EX3)), EXIT,
BLOCK
WHEN FIRST (LEX1) > 0,
ANS:
JONESO (N, REVERSE (REST (LEX2), REST (LEX1)))% (~y/x)
+ JONESO (N, REVERSE (REST(LEX2), LEX1))%(-1/x) EXIT,
ANS: JONESO (N, REVERSE (REST(LEX2), REST(LEX1)))>*(-x/y)
+ JONESO (N, REVERSE (REST (LEX2), LEX1))%(-1/y)
ENDBLOCK,
A3 ASSIGN (EX3, ANS) EXIT, .
. LEX3: REVERSE (REST (LEX2), REST(LEX1))>, LEX2: LEX1: FALSE EXIT,
WHEN EX1 = 3,
PUSH (FIRST (LEX3), LEX1),
WHEN FIRST(LEX2) * FIRST (PUSH (POP (LEX1),LEX2)) > 0,
EX1: SIGN(POP(LEX1))%*(M - 1>, PUSH (POP (LEX2), LEX1),
PUSH (POP (LEX2), LEX1>, PUSH (EX1, LEX1), M: N,
LEX3: REVERSE (LEX2, LEX1), LEX2: LEX1: FALSE EXIT,
WHEN FIRST(LEX1) * FIRST (PUSH(POP (LEX2),LEX1)) > O,
EX1: SIGN (POP(LEX2)>*M - 1>, PUSH (POP (LEX1), LEX2),
PUSH (POP (LEX1), LEX2), PUSH (EX1, LEX1), M: N,
LEX3: REVERSE (LEX2, LEX1), LEX2: LEX1: FALSE EXIT,
%1l EX3: COMPRESS (NORMALIZE (REDUCTION (REVERSE (LEX2, LEX1)))),
Y2 WHEN NOT EX3=(ANS: EVAL (EX3)), EXIT,
PUSH (-POP (LEX1), LEX1),
BLOCK
WHEN FIRST (LEX2) < O,
ANS: JONESO (N, REVERSE (LEX2, REST(LEX1)))*(-1/%)
+ JONESO (N, REVERSE (LEX2, LEX1))*(-y/x) EXIT,
ANS: JONESO (N, REVERSE (LEX2, REST (LEX1)))*(-1/y)
+ JONESO (N, REVERSE (LEX2, LEX1))*(-x/y)
ENDBLOCK,
%3 ASSIGN (EX3, ANS) EXIT,
M: M - 1
ENDBLOCK
ENDLOOP
)FUNS

ICTION CHECK (N, LEX1)>, % If LEX]1 contains an element

LOOP % whose absolute value is
WHEN ATOM (LEX1) EXIT, % greater than N, then FALSE,
WHEN ABS (POP (LEX1>)> > N, FALSE EXIT % else TRUE

ENDLOOP

JFUNS

a2 3¢ 32



141

FUNCTION REDUCTION (LEX1, %Local% LEX2), % Change the word LEX1 %
LOCOP % to its reduced word %
WHEN ATOM (LEX1>, LEX1: REVERSE (LEX2> EXIT, % -1 %

LOOP % u.g.g .V ==> u. v %

WHEN NOT FIRST (PUSH (POP (LEX1>, LEX2>) = -FIRST (LEX1), EXIT,
POP (LEX1), POP (LEX2),
WHEN ATOM (LEX2). EXIT,
WHEN ATOM (LEX1> EXIT,

ENDLOOP
ENDLOOP % -1 %
LOOP % g.W. 8 —> w %

WHEN ATOM (LEX1>, EXIT,
WHEN ATOM (REST (LEX1>) EXIT,
LEX2: LEX1,
LOOP
WHEN ATOM (RREST (LEX2))>, EXIT,
POP (LEX2)
ENDLOOP,
WHEN NOT (FIRST (LEX1) = -FIRST (REST (LEX2))) EXIT,
POP (LEX1>, REPLACER (LEX2, FALSE)
ENDLOOQP,
LEX1
ENDFUNS

FUNCTION SIGN GO,
WHEN X > 0, 1 EXIT,
-1

ENDFUNS

RDS (G s



